
PLUMBING

Zb-gÇmm

(611)

Time : 1½ Hours ] [ Max i mum Marks : 30

g_` : 1½ K Q>o ] [ nyUm™H$ : 30

Note : All questions are compulsory and carry marks as indicated against each

question.

{ZX}e : g^r ‡ÌZ A{Zdm`© h¢ Am°a ‡À òH$ ‡ÌZ Ho$ AßH$ gm_Zo {XE JE h¢ü&

1. Write the name of any two traps. 1

{H$›ht Xmo Q¥>°n Ho$ Zm_ {b{IEü&

2. Write the full name of GI pipe. 1

Or0 AmB0 nmBn H$m nyam Zm_ {b{IEü&

3. Define Plumbing. 1

Zb-gÇmm H$mo n[a^m{fV H$s{OEü&

4. Where do we use waste? 1

doÒQ> H$hm± BÒVo_mb H$aVo h°ß?

5. Make a clear sketch of elbow. 1

EÎ~mo H$m Òd¿N> {MÃ ~ZmBEü&

6. What do you mean by 1:4 cement mortar? 1

1:4 gr_o›Q> _gmbm H$m AW© ~VmBEü&

7. What is the use of hydrant? 1

hmBS¥>°›Q> H$m ‡`moJ ~VmBEü&

8. Die and vice are the main tools used in Plumbing. (Yes/No) 1

S>mB Edß ~m±H$ Zb-gÇmm Ho$ H$m_ _| AmZo dmbo ‡_wI Am°Oma h°ßü& (hm±/Zht)
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9. Write the full name of AC pipe. 1

E0 gr0 nmBn H$m nyam Zm_ {b{IEü&

10. We provide high level cistern connection with Indian-type WC. (Yes/No) 1

CÉ-Vb$ ‡YmdZ Q>ßH$s H$m gÂ~›YZ ^maVr` e°br Ho$ em°M-nmÃ Ho$ gmW {H$`m OmVm h°ü& (hm±/Zht)

11. We use —— to divert any pipeline on right angle. 1

{H$gr nmBnbmBZ H$mo g_H$moU na _moãS>Zo Ho$ {bE —— ‡`moJ H$aVo h°ßü&

12. We provide free-board in ——. 1

\´$s-~moS>© —— _| ~ZmVo h¢ü&

13. Make a line diagram of any two : 2

Nipple; Spirit level; Socket; CI cross.

{H$›ht Xmo H$m aoIm{MÃ ~ZmBE :

{Zflnb; pÒn[aQ>> bodb; gm∞Ho$Q>; gr0 AmB0 H´$m∞gü&

14. Make a clear diagram of floor trap. 2

‚bmoa Q¥>°n H$m Òd¿N> aoIm{MÃ ~ZmBEü&

15. Where do we use caulking and packing tools? 2

H$m∞qH$J Edß n°qH$J Am°Oma H$hm± BÒVo_mb H$aVo h¢?

16. (a) There are —— valve in a hand pump.

hÒV-Mm{bV nÂn _| —— dmÎd hmoVo h¢ü&

(b) The limit (depth) of water seal is ——.

Ob-grb H$s JhamB© —— hmoVr h°ü&

(c) We provide —— on public places to use water. 3

gmd©O{ZH$ ÒWmZm| na nmZr Ho$ Cn`moJ hoVw —— ~ZmVo h¢ü&
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17. Make a clear sketch of any three : 3

Stop-cock; Bib-cock; Mortar pan; Trowel; Hacksaw; Ladle; Urinal basin;

Wash basin.

{H$›ht VrZ H$m Òd¿N> {MÃ ~ZmBE :

ÒQ>m∞n-H$m∞H$ ; Q>m|Q>r ; Vgbm ; H$aZr> ; h°ägm∞ ; H$bN>r ; _yÃ-nmÃ ; YmdZ-nmÃü&

18. (a) We provide low-level cistern with ——.

{ZÂZ-Vb ‡YmdZ Q>ßH$s —— Ho$ gmW bJmVo h¢ü&

(b) We provide high-level cistern with ——. 3

CÉ-Vb ‡YmdZ Q>ßH$s —— Ho$ gmW bJmVo h¢ü&

19. Make a clear sketch of any three CI fittings. 3

{H$›ht VrZ gr0 AmB0 {\$qQ>J H$m Òd¿N> {MÃ ~ZmBEü&
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